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TEST FOR CONGRUENT TRIANGLES

1. Find the value of the pronuimeral, giving reasons for each answer.

(a) (b) e
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2. (a) Show AWXY = AWZY. (dy 77 L wY, TW L WX,
. YX L WXand TH L WY,
" Show ATZW = AWXY.
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(b) LABC = /DCB T
and AB = DC-_ (&) AB = CD and AD = BC. Show:
Show AABC = ABCD. (i) A4BD = ACDB
4 D (i) AB| DCand 4D | BC
D C
X
\\\\\
B C A B
(¢) LQ = MQ and O PM=PQ,
PO = NO. PM 1 LNand PQ 1 LR.
Show APQOL = ANOM. Show ALMP = ALQP.
P N
Y
LM
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(g) Q is the midpoint of PR.
Show APVQO = AQRT.

3. AC| XZ, XY || AB and BC = YZ.
Show that AABC = AXYZ,

X\ » Z

C

L
N
M

4, LA ] BN and 4B bisects LN at M.
Prove ALMA = ANMB.

B

5. WX | ZY and WZ || XY. Show:
(1) AWXZ = AYZX
(b) WZ =YX
Z

”f s X

GEOMETRY

(h) FE L GE,
DG 1 GE and FE = GD.
Show ADEG = AFGE.

)

L

6. APQR is isosceles and OT = RM.
Prove APTM is isosceles.

(Hint: Show PT = PM.)
P

i
¥

0T M R

7. £DEG = £ EDF and GE = FD.
Show ADEG = AEDF.

8. BC = BD and AB = AD,

Show £BAC = £ DAC.
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9. CX L AB, BY 1 AC and XC = YB. 13. O is the centre of the circle

Show A4BC is isosceles. and 4B = CD.
4 Show /. A0B = £.COD.

B D

10. Prove that the diagonals of the

rectangle WXYZ are equal. 14, AD = AB and CA bisects £DAB.
(Hint: Show AWXZ = AXWY.) Show CD = CB.
Z Y D

e, ~__

11. LM = MN and PM = MQ. 15. Prove that the line from the centre
Show QL || PN. of a circle to the midpoint of a chord
N bisects the chord at right angles.

e N (Hint: Draw OC, 04 and OB,
/}M and show AOAC = AOBC.)

L P

12. DEFG is a square and KF = LF.
Show ADKG = ADLE.
G K F A ()

L 16. ABCD is a parallelogram.
Prove AAMD = ACNB.
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